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Sl. No.1
QBID:1555071

Identify the correct preposition to make a meaningful sentence.

The scheme of Pradhan Mantri Jan Dhan Yojna was originated the Prime Minister.
(1) m

(2) with

(3) for

(4) by

Fafafed d ¥ $1H 91 S oo 81 6 2
(1) &

(2) 9

(3) 4

(4) I

1[Option ID=45001]

2[Option ID=45002]

3[Option ID=45003]
4[Option ID=45004]

Sl. No.2
QBID:1555072

[dentify the meaning of the underlined idiom from the options given.

Rajesh's brother gave him a bird's eye view of the courses offered in the Hansraj College .

(1) an objective view
(2) a detailed presentation
(3) an elaborate description

(4) a general view

Fafafad & 9 $H-91 st BREN U ST 761 © 2
(1) ST, B

(2) 91, RreEd

(3) IRH], BRG]

(4) DI, &9

1[Option ID=45045]
2[Option ID=45046]
3[Option ID=45047]
4[Option ID=45048]

Sl. No.3
QBID:1555073

Choose the correct option to make a meaningful sentence.

For the last seven months I in this company.

(1) am working
(2) has been working

(3) have been working

(4) have worked

T & o =9 9 faodfl 9 & 311 811 BT UId The Bidl &' 3 DIH-U1 DR Hod § ?

(1) FAPRD
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JEIGHPRD

1[Option ID=45073]
2[Option ID=45074]
3[Option ID=45075]
4[Option ID=45076]

Sl. No.4
QBID:1555074

[dentify synonym for the underlined word in the sentence.

Rabindranath Tagore had penchant for reading books.
(1) liking
(2) strength

(3) mclination
(4) desire

:ﬂ%?ﬁfﬁmm@% . U A HDYUA (Assertion A) & ¥4 ﬁmﬁ%?ﬁmmW(Reason R) & U H:
HfNHYA A : Toba1 faRmor PRI W2 © |

PHRUIR : G190 § YO $31 & 916 Thaifdgyor #1 &y §sd Jdi & |

IWRIGd Y- & 3Tl H. Hid 13T U f[abedl § I ol 3R Bl I-19 Difolu -
(1) A 3RRIF T E IR R A D! Tel RS &

(2) A IR R I TA E, AP R, A B TSI IR T8l &

(3) ATTE. APTR 3T

(4 A3TI . APIRIT®

1[Option ID=45077]
2[Option ID=45078]
3[Option ID=45079]
4[Option ID=45080]

Sl. No.5
QBID:1555075

Find correctly spelt word form the options given below (only one word 1s spelt correctly)

(1) Abatoir
(2) Apiary
(3) Aviay

(4) Archves

Ydi-1 & 1Y YI-11 DT (5 BT -

T GSily
_@=) _ (T
A [3RTg L |$Hi
B. [ScpH I |®EA
c. |f@eu 1. |3gey
D. [T V. [a®

19 fu U fa el § T el IR BT I97 BITOIU -
(1) A-IV, B-IIL C-I, D-II
(2) A-IL B-IIL C-IV. D-I
(3) A-L B-IL C-IIL. D-IV
(4) A-IL B-IV, C-IIL D-I

1[Option ID=45081]
2[Option ID=45082]
3[Option ID=45083]
4[Option ID=45084]

Sl. No.6
QBID:1555076
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Identify the correct active voice for the sentence given below

When were my shurts returned by Ajay ?
(1) When Ajay returned my shirts ?

(2) When will Ajay returned my shurts ?
(3) When 1s Ajay return my shirts ?

(4) When did Ajay return my shirts ?

:ﬂﬁaﬁﬂqm@% : WWWW (Assertion A) & =Y ﬁﬁ'@ﬁ%?ﬁ G 39d PIRUJ (Reason R)%quf;
S YA A : TR Wi &1 ar=rd § st Sad aafdd o1 uRT 9 digax feaR aEl
HRUIR : 59 TR B oG QX GHT |

SWRIdd YA & ATl H. A AU U fawedi § T ol IR &1 999 Diford —
(1) A3RREH TG ARR, ADI ol URAT §
(2) A 3fRRGH Id &, Wb R. A P! Tl IS ol &
(3) AT R, APIR AT '
(4) A3NIG. AP TRIT T

1[Option ID=45085]
2[Option ID=45086]
3[Option ID=45087]
4[Option ID=45088]

Sl. No.7
QBID:1555077

[dentify the correct direct speech for the sentence given below :

Farhann told Ashok that Taj Mahal 1s the Seventh Wonder of the World.

(1) Farhaan suggested to Ashok. "Taj Mahal 1s the Seventh Wonder of the World".
(2) Farhaan said to Ashok. "Taj Mahal 1s the Seventh Wonder of the World".

(3) Farhaan tells to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(4) Farhaan says to Ashok. "Taj Mahal is the Seventh Wonder of the World".

Fafafed § 9 SH-91 g0 Fel el ©
(1) HPRI - U

(2) FPRI - Hg

(3) IPRI - Y

(4) BPRI - HIJ

1[Option ID=45089]
2[Option ID=45090]
3[Option ID=45091]
4[Option ID=45092]

Sl. No.8
QBID:1555078

Choose the correct order of the paragraph to create a meaning out of PQRS set :
To explamn

P : that there are no opposites.

Q : forms required looking at the second

R : approach to opposites in the theory of forms

S : how Plato can deny the existence of some
(1) QPSR
(2) PQSR
(3) RSQP
(4) SQRP

#ofe-

T
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Ydi-1 & 91 YI-11 BT ({1 BT -

= = v
| A [foar @ ura g3 gufa | 1 [ag®

E | UR o 1 9% 1. vz

C. |Stuga ara gl 1. |aReif

D. |f&dil B Bl B B dacl FAIgA & | IV.

i fGU 7T fadedl & ¥ 9gl TR &1 994 Bifoiu -
(1) A-IV. B-IIL C-II. D-I
(2) A-IIL B-IV, C-I. D-II
(3) A-IL B-I. C-IV, D-III
(4) A-L B-III. C-II. D-IV

1[Option ID=45093]
2[Option ID=45094]
3[Option ID=45095]
4[Option ID=45096]

Sl. No.9
QBID:1555079

Choose the correct sentence.
(1) She ate her breakfast. had a shower. and goes to school.

(2) She ate her breakfast, had a shower. and gone to school.

(3) She ate her breakfast. had a shower. and went to school.

(4) She ate her breakfast, had a shower. and was going for school.

frafaRad o 9 gy arey fafgd Sife -
(1) GRS AT G |

(2) AT FAATCS |

(3) AP B: AR TS |

(4) 43l H B Wﬂﬁﬁﬂ?{% I

1[Option ID=45097]

2[Option ID=45098]

3[Option ID=45099]
4[Option ID=45100]

Sl. No.10
QBID:15550710

Find out which part of the following sentence has an error.
(1) Harsha told to the housekeeper

(2) that he should not
(3) Come for work
(4) from tomorrow

Fafifed 3 Je v § -

A. DY
B. TRifarg

C. vowdqc]

D. 9@ R
E. HaidAl

=1 fSU 71U fasedl d 9 ol 3R &1 94+ Difolu -
(1) C.D 3RE

(2) B.C 3RE

(3) C.D.E3RA

(4 A B3RC

1[Option ID=45005]

sﬁ

T
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2[Option ID=45006]
3[Option ID=45007]
4[Option ID=45008]

Sl. No.11
QBID:15550711

Who built the famous Shiva Temple at Ellora ?
(1) Chalukya King Pulikeshi
(2) Gupta King Samudragupta

(3) Mauryan Emperor Ashoka
(4) Rashtrakuta Ruler Krishna I

g4 9 foom warn § fRa-diex &1 fHator samn 2

(1) IR YD GADh T 11
(2) WARMNEP FHSW

(3) O JUIe =IdH

(4) XIPDC D P[]

1[Option ID=45009]
2[Option ID=45010]
3[Option ID=45011]
4[Option ID=45012]

Sl. No.12
QBID:15550712

The origin of Indian music can be traced to which of the following Vedic Sambhitas ?

(1) Atharvaveda
(2) Yajurveda

(3) Samaveda
(4) Rigveda

YR Fiitd &1 I fFaifed farg afds g gang 2
(1) 3Yddg

1[Option ID=45013]
2[Option ID=45014]
3[Option ID=45015]
4[Option ID=45016]

Sl. No.13
QBID:15550713

Buddhism made an important impact by allowing which of the following hitherto marginalized sections of society into its fold ?

A. Women
B. Warriors
C. Merchants
D. Shudras

Choose the correct answer from the options given below :
(1) Aonly
(2) AandD only

(3) Aand C only
(4) D only
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dicyd 3 qOe & BIRN R U3 Feifed foa o o orma o 8§ nfid @R 39 )R Ue Te@yu! gyia ST 2

A. Hfgan &l
B. UIGl
C. AR @

D. %
dld QU 31T fashedl § & e 39gdd 3R & 94 HIAT - :

1[Option ID=45017]
2[Option ID=45018]
3[Option ID=45019]
4[Option ID=45020]

Sl. No.14
QBID:15550714

President of India 1s empowered to make which of the following appointments ?

A. Chief of the Army

B. Speaker of the Lok Sabha
C. Chief Justice of India

D. Chief of the Air Force

Choose the correct answer from the options given below :

(1) A.B and D only
(2) AandD only
(3) Aand C only
(4) A.CandD only

Frafifaa 2 3 e 39 Prafd & R yRa $ pafy o1 amafa o @ o

A VS
B. AIHYHT &

C. HRd & H&0 IaTUie

D. a1g I &

1 fGU U faeul § T et 3R &1 994 BT -
(1) HIAA. B HRD

(2) PHad A3RD

(3) PHad AR C

(4) Pad A, C ARD

1[Option ID=45021]
2[Option ID=45022]
3[Option ID=45023]
4[Option ID=45024]

Sl. No.15
QBID:15550715

Which of the following statements are correct about Swachh Bharat Mission - Urban ?

A. It has an outlay of 1.41 Lakh crore and will be implemented over 5 years.
B. The nodal Ministry 1s Ministry of Housing and Urban Affairs.
C. SBM-U phase 2 was launched by Hardeep Singh Puri.

D. SBM was launched on 274 October 2014.

Choose the correct answer from the options given below :

sin

T
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(1) A.BandD only
(2) AandB only

(3) Aand D only

(4) A.B.CandD only

W YRA-MRH el & aR § HafiiRed o4 3 Sy 981 6 2

A. SHDI Y 1.41 TG RIS 8 R Y 5 aui § febari=ad fapar e |
B. SUGI -AlSd HATY." TN 3R e $1 Ud TR HAT" § |
C.UH.d1.UH.- g Uy 2 gRa1Y 88 QR gRTWRY fhar mar o |

D. TH.ELUH. 2 3FTER 2014 DI URYH G UT |

A0 BT 717 [@%eql # & HET 30X & g3 HITAT ¢

(1) HITA.B IR D

(2) FHad A AR B
(3) HadA ARD
(4) HIAA. B. C 3R D

1[Option ID=45025]
2[Option ID=45026]
3[Option ID=45027]
4[Option ID=45028]

Sl. No.16
QBID:15550716

In a certain code language.

"book pen mouse computer” 1s coded as "er gh 1 cv’
"keypad pen book bottle" 1s coded as "gn ty 1u kl"
"computer pen bottle paper” 1s coded as "cv kl 10 gh"

Which of the following code 1s used for "pen"

(1) gh

(2) 1
(3) CV

(4) 10

U fagiy e e g

"book pen mouse computer” P PC B - "er eh 1 cv".

"keypad pen book bottle” P D C % - "en ty 1w kl"

"computer pen bottle paper” P PC g - "ev klio ch".

“ptn"a?ﬁmﬁ'ﬂ%@ﬁﬁﬁﬂﬁfﬁ' EREIRR)

(1) gh
(2) 1
(3) CV
(4) 10
1[Option ID=45029]
2[Option ID=45030]

3[Option ID=45031]
4[Option ID=45032]

Sl. No.17
QBID:15550717
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In a certain code language.

'Attend class daily good' is written as 9%$5. 24%09. 3%6. 24*3
'Begin great any matter' is written as 3 & 3. 8%9. 10*15. 14%4
Less error and fire' 1s written as 10$7, 23%8. 9%14. 24&3

'Tool better than screw’ 1s written as 16%22. 5$21. 10*4. 14%:22

According to the given code what will be the code tor the word 'Burst' ?

(1) 8%4
(2) 6352
(3) 852
(4) 6=4

U faQy e U H

'Attend class daily good' DI 9$5. 24%9. 386, 24*3 fa@I STaT 8
'‘Begin great any matter' Dl 3 & 3. 8%9. 10*15. 1484 fa@1 ST 8
'Less error and fire' DI 1087, 23%8. 9%14. 24&3 TGl STdl %

'"Tool better than screw’ @1 16%22. 5$21. 10*4. 14%22 To1@1 9Irdl % I

W 4T T Hef & IR Usg Burst' P1 HC A1 g 2
(1) 8%4

(2) 6%2

(3) 8%2

(4) 624

1[Option ID=45033]

2[Option ID=45034]

3[Option ID=45035]
4[Option ID=45036]

Sl. No.18
QBID:15550718

If the symbol '+' means '-' and "™ means ' and vice versa then, what would be the value of following equation ?

4%2/4-2+3
(1) 7
(2) 3
(3) -8
(4) 10

gfe gopd + o1 3 — § 3R+ 1 3 1 B 3R 91 fausia ot o & o FafeRaa e o1 5 o g 2

4*2/4-2+3
(1) 7

(2) 3

(3) -8

(4) 10

1[Option ID=45037]
2[Option ID=45038]

3[Option ID=45039]
4[Option ID=45040]

Sl. No.19
QBID:15550719
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If V plays first. which one of the following must be true ?

A. T pertorm sixth.

B. X perform third.

C. Z perform seventh.

D. T perform immediately after Y.
E. W pertorm immediately after X,

(1) C and E are correct.

(2) Dand E
(3) A and B are correct
(4) C and D are correct

afe v 9ad ggd Wdfd <ar 8 ol Fafafad 3§ 9 oH-u1 fae e @ g
A TE3d PR UK A S |
B. X OIGR % IR Ufd ST © |
C. Z 91dd s W UK <l g |
D. Y & q3=d &4 T Wdfd aal g |

E. X & 3= 91 W Udfd Sd1 @ |

=1 fGU 70 faedl O ¥ Tel TR &1 99 Bifolu -
(1) C IRETRIB

(2) DIRE

(3) ARBIGI
4) C3ARD IR B

1[Option ID=45041]
2[Option ID=45042]
3[Option ID=45043]
4[Option ID=45044]

Sl. No.20
QBID:15550720

After walking for 6 km. Aradhana turns to the right and then walks 2 km. After that she turns to the left and walks 10 km. In the end.
Aradhana 1s moving towards the North. From which direction did Aradhana start her journey ?

(1) North
(2) South
(3) East
(4) West

6 fortlt e & d1e, ARIYAT alfe- GoI 3R 2 fd 9cil | 39 1¢ a8 a1d gt 3R 10 fbdl Ial | 3 H 3R1eHT SR fa=n 4 =«
1T | SIRIYHET A 3= g by o= 9 = &1 i »

1[Option ID=45049]
2[Option ID=45050]
3[Option ID=45051]
4[Option ID=45052]

Sl. No.21
QBID:15550721

In how many ways. a committee of 6 members be selected from 7 men and 5 women. consisting of 4 men and 2 women ?
(1) 200
(2) 250
(3) 350
(4) 450

7 Q=91 T 5 Afgensii # ¥ ¢ ISy 9itfd o1 99 fbd yoR 9 fovar o 9o &, forad 4 ou Ud 2 wfgart e gi 2
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(1) 200
(2) 250
(3) 350
(4) 450
1[Option ID=45053]
2[Option ID=45054]

3[Option ID=45055]
4[Option ID=45056]

Sl. No.22
QBID:15550722

A cone and a sphere have equal radii and equal volumes. Find the ratio of the diameter of the sphere to the height of the cone?
(1) 1:4
(2) 1:2
(3) 4:1
(4) 2:1

TS WP 3R TS Td $I 501 UG Saad THH © | T 1A & o &1 UF D1 SHdTs 9 a1 faa1 g »

(1) 1:4
(2) 1:2
(3) 4:1
(4) 2:1

1[Option ID=45057]
2[Option ID=45058]
3[Option ID=45059]
4[Option ID=45060]

Sl. No.23
QBID:15550723

A sum of money doubles itself at compound interest in 15 years. In how many years will it. become eight times ?
(1) 15 years
(2) 30 years
(3) 40 years
(4) 45 vears

Plg Y-RIR Tshafs: ST D1 3 Y 15 a8 & ST &l 9l & | v sl § g5 3113 A1 81 oI 2

(1) 1539
() 30Ty
(3) 4034
(4) 4579

1[Option ID=45061]
2[Option ID=45062]
3[Option ID=45063]
4[Option ID=45064]

Sl. No.24
QBID:15550724

What 1s the probability of getting a sum 9 from two throws of a dice ?

1

(1) B

1
(2) 1
(3) l

L
1
(4) -6-
fpdt OT &1 &l R B+ I TINT 9 UTd B DI WSl fod-i & ©
(1)

(2)

(3)
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(4) 1
6

1[Option ID=45065]
2[Option ID=45066]
3[Option ID=45067]
4[Option ID=45068]

Sl. No.25
QBID:15550725

If the equation 2x* +3x+ p =0 has equal roots. then the value of p 1s
(1) 7/8
(2) 1/8
(3) 8/9
(4) 9/8

i FHBRUT 222 + 35+ p =0 DI YA Gd 3. dl p BT HH a1 811 2

(1) 7/8
(2) 1/S
(3) 89
(4) 9/8

1[Option ID=45069]
2[Option ID=45070]
3[Option ID=45071]
4[Option ID=45072]

Sl. No.26
QBID:1304631

How many biodiversity hotspots are there in India?
(1) 3
(2) 4
(3) 5

(4) 6

YRd ¥ wia-fafaydr aawie (gledic) Bl
(1)
(2)
(3)
4) 6

ihhm

1[Option ID=44101]
2[Option ID=44102]
3[Option ID=44103]
4[Option ID=44104]

Sl. No.27
QBID:1304632

The range of environmental conditions and tolerance of a species in which they show its potential growth is called its :
(1) Ecophens

(2) Ecological succession

(3) Ecological amplitude

(4) Ecotypes

U Ui &1 Fe-=iiadl SR gaiarviy Rufd &1 36 ford 4 oot gfhy ofs yeRid @vd 8 1 39 Ped © |
(1) HA]PD-

(2) UIRRRUGD 3IhH

(3) gIRfAUTd & ™

(4) TR

1[Option ID=44145]
2[Option ID=44146]
3[Option ID=44147]
4[Option ID=44148]

Sl. No.28
QBID:1304633

Where and when was the joint forest management originated?
(1)

collegedunia:s
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Orissa (Sambalpur district), 1988
(2) West Bengal (West Midnapur district). 1980
(3) Madhya Pradesh (Jhabna district), 1978
(4) Assam (Dima Haso district). 1972
YYad a1 YaYH DI IR=3HTd Dol AR Hd gg Ul ?
(1) JoIT (HaaR foram). 1980

() TfYH §Te (afgs afeig (e, 1980
(3) HEAYS (g3 fofem), 1978
(4) 3GH (SH 8™ ford). 1972

1[Option ID=44189]
2[Option ID=44190]
3[Option ID=44191]
4[Option ID=44192]

Sl. No.29
QBID:1304634

The dominant anion present in the river water is:

(1) HCO3™

(2) CO4*

(3) OH™

(4) NO;*

T2l & oTd § SUiRYd BHardl 9ed TAIH 8iaT © 2
(1) HCO;™

@) E0F
(3) OH"
(4) NO;*

1[Option ID=44233]
2[Option ID=44234]
3[Option ID=44235]
4[Option ID=44236]

Sl. No.30
QBID:1304635

The sky looks blue because of :
(1) Rayleigh scattering
(2) Mie scattering

(3) Diffraction
(4) Polorisation

Fgifed d 9 fhud SR ATHT A1l [GUrdt 9sars 2

1[Option ID=44277]
2[Option ID=44278]
3[Option ID=44279]
4[Option ID=44280]

Sl. No.31
QBID:1304636

The largest reservoir of freshwater on the earth is/are in the-
(1) Rivers. lakes

(2) Ice-sheets and glaciers

(3) Water vapour in atmosphere

(4) Soil water
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g IR 1ol Od & Falied g Jad 3-8 4 fPai ud @ g/ § |
(1) A, S

(2) fgH -9l ud fgug

(3) QTR § Hig Siears

(4) 31 H IURRYT I

1[Option ID=44321]
2[Option ID=44322]
3[Option ID=44323]
4[Option ID=44324]

Sl. No.32
QBID:1304637

The doubling time of a bacterial cell 1s 90 minutes. If the division starts with two cells. how many bacterial cells will be present after one
day (consider no cell death)?

(1) 32.768 cells
(2) 65.536 cells
(3) 1.31.072 cells
(4) 2.62.144 cells

fodt SitaTu] SifRIeeT & fETford e &1 9m oo firFe § | afe faurs= &1 Sifie ¥ wRY 811 6. s 139 918 fha-t shary] Sifkiem
farerm= gt ( fapst oft SifRIep1 &1 37 81 g3 T ST ©)

(1) 32.768 (PIRAPIY)
(2) 65.536 (PIRIBIT)

(3) 1.31.072 (PIRIBIV)
(4) 2.62.144 (DI

1[Option ID=44365]
2[Option ID=44366]
3[Option ID=44367]
4[Option ID=44368]

Sl. No.33
QBID:1304638

The division of a chromatid into two daughter chromosomes is observed during which stage of mitosis?
(1) Prophase

(2) Metaphase

(3) Anaphase

(4) Telophase

YOGV $1 DT TR & Ty [t wfes o favem 3 Yafa gai & o S g 2

1[Option ID=44393]
2[Option ID=44394]
3[Option ID=44395]
4[Option ID=44396]

Sl. No.34
QBID:1304639

'The random variation 1n allele frequency from generation to generation. often observed in small population’ 1s called-
(1) Genetic Engineering

(2) Translation
(3) Polymorphism

(4) Genetic Drift

fpdl TYSMBR Bl TGS H AR I & areit Uil R didh ¥ gmfaspedt sgft & arefess was dgardig |
(1) AHGIDT fgifa o
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(2) WA
(3) €@gx=Hal

(4) AP faRIT(Sw)

1[Option ID=44397]
2[Option ID=44398]
3[Option ID=44399]
4[Option ID=44400]

Sl. No.35
QBID:13046310

All the weather/meteorological processes take place 1n-
(1) Thermosphere

(2) Troposphere

(3) Stratosphere

(4) Mesosphere

Fq / GreE Jadt gt uen feg gusd ¥ 3@ ufca) sidi @ 2

(4) HEH

1[Option ID=44105]
2[Option ID=44106]
3[Option ID=44107]
4[Option ID=44108]

Sl. No.36
QBID:13046311

In the troposphere. temperature................ with altitude while in stratosphere. temperature......

(1) Increases. decreases
(2) decreases. mncreases
(3) Remains constant. increases

(4) Increases. remains constant

aasa d. A5 & 91 ATTH o . Vg JHAIHUST H s & 1Y dI9qM
(1) dedl. Ycdl
(2) Yedl. &l

(3) fAgd €91 38dl. 9¢d
(4) gdl. Had §138a

1[Option ID=44109]
2[Option ID=44110]
3[Option ID=44111]
4[Option ID=44112]

with altitude.

Sl. No.37
QBID:13046312

Richter scale 1s a/an scale to measure Earth Tremors.

(1) Exponential
(2) Logarithmic

(3) Geometric
(4) Physical

R UqH1, YU B AYA TG TH ... gl & |
(1) YTl

1[Option ID=44113]
2[Option ID=44114]
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3[Option ID=44115]
4[Option ID=44116]

Sl. No.38
QBID:13046313

More than 90% of the rock forming minerals in the Earth's crust consist of:

(1) Silicates

(2) Oxides

(3) Carbonates

(4) Sulphides and Sulphates

gedt Bt Y-quet H O Faforert @fFe 00% 3 oifte frad s e g 2
(1) fferdey
(2) LS
(3) BIEHCH

(4) ehIgs Ud JehcaH

1[Option ID=44117]
2[Option ID=44118]
3[Option ID=44119]
4[Option ID=44120]

Sl. No.39
QBID:13046314

Which form of soil water 1s most available to the plants?
(1) Hygroscopic water
(2) Capillary water

(3) Gravitational water
(4) Water vapour

031 od $1 DIH-T1 HR UIedl o Gaiidd Sqas g 2
(1) TEaTe! o d

(2) BIRDH I

(3) ¥ uidd
(4) OddiH

1[Option ID=44121]
2[Option ID=44122]
3[Option ID=44123]
4[Option ID=44124]

Sl. No.40
QBID:13046315

In India. the temperate forest are most commonly found in

(1) Himalayan mountaimnous region
(2) Ganga-Yamuna basin
(3) Deccan plateau region

(4) Coastal areas

YRd & 2fidr a7 gmegaar g 87 F umr Sar g 2
(1) gAY yadig &7

(2) TAT-gHAT 9

(3) P UR &4

(4) T &

1[Option ID=44125]
2[Option ID=44126]
3[Option ID=44127]
4[Option ID=44128]

Sl. No.41
QBID:13046316

Who coined the term "Ecosystem’. and In which year?
(1) Karl Mobinn, 1930
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(2) S.A. Forbes. 1887
(3) A.G. Tansley. 1935
(4) Virnadsky. 1944

uiRfRufd o3 &1 Gad ygd [ au1 &4 3 a9 & uqd faear 2
(1) BT Hifegd, 1990
(2) TYUHIEY, 1887

(3) U Gl g9, 1937
(4) TATSIDI.1044

1[Option ID=44129]
2[Option ID=44130]
3[Option ID=44131]
4[Option ID=44132]

Sl. No.42
QBID:13046317

Which disease 1s caused by a nematode?
(1) Amoebiasis

(2) Filariasis

(3) Poliomyelitis

(4) Leprosy

S7H DH-91 A7 AATCIS & HRUBIAI B 2

(3) TIferal HIRSRIY
(4) DEIA

1[Option ID=44133]
2[Option ID=44134]
3[Option ID=44135]
4[Option ID=44136]

Sl. No.43
QBID:13046318

The most commonly used bacteria for gene cloning is

(1) Micrococcus

(2) Nitrosomonas
(3) E. coli

(4) Salmonella typhii

ST T B FauTHg =9 Y Wgdd g4 aTa SiaT g -
(1) HISHIDIDY

(2) AECRHHAN

(3) 3. DIl

(4) FreHHdl Bl

1[Option ID=44137]
2[Option ID=44138]
3[Option ID=44139]
4[Option ID=44140]

Sl. No.44
QBID:13046319

The increase in concentration of toxic chemical substances in the tissue of organisms at successively higher trophic levels in a food chain
1s refered as-

(1) Biological magnification

(2) Denitrification

(3) Bioaugmentation

(4) Bioremediation

fopft aTer Raan H IR S=aR UINUH WRI R oiid & 3a® J [auTad I9aHe dal & g0 d gfe 39 =9 § AfRa gidi g 2
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(4) O IUIRDI

1[Option ID=44141]
2[Option ID=44142]
3[Option ID=44143]
4[Option ID=44144]

Sl. No.45
QBID:13046320

Which of the potential area is included in the UNESCO world heritage site?
(1) Keibul Lamjao National Park

(2) Intank: National Park
(3) Kaziranga Nationa Park

(4) Dehing Patkai National Park

g4 A 1 T1 ERA&d &7 g & fay favrea = d wifia g 2
(1) A AH ST AP Ureh

(2) ZCIPI AP b

(3) BTG AP Ureh

(4) &fg7 yeHs APy Ui

1[Option ID=44149]
2[Option ID=44150]
3[Option ID=44151]
4[Option ID=44152]

Sl. No.46
QBID:13046321

"Human influence has warmed the climate at a rate that is unprecedented in at least the last 2000 years." This inference/statement is from-

(1) IPCC AR6: Climate Change 2021

(2) COP-2015 meet 1n Paris
(3) Montreal Protocol
(4) Kyoto Protocol

"Od Y4Td 1 ol I Saarg fOad 2000 a9 & I UG G R ITH g3 & 1" U8 YHIG/HY [bad Igyd @ 2
(1) 313 Ui 4i 4l U 311U 6: Siearg gikad— 2021

() Of¥F & Dd-2015 HiAfd

(3) Hiftegd Wi

(4) ICl Uicidpld

1[Option ID=44153]
2[Option ID=44154]
3[Option ID=44155]
4[Option ID=44156]

SI. No.47
QBID:13046322

Which source has the highest installed power generation capacity (MW) in India.

(1) Thermal Power
(2) Hydro Power

(3) Nuclear Power
(4) Renewable Energy

YRd H g Wi § gaiive Rfud I Sdre- &HdT (Hdic) Urdl §irdt g
(1) qrdtg It

(2) Safdgygd 3l
(3) DG I

(4)
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TdIepRuig Il

1[Option ID=44157]
2[Option ID=44158]
3[Option ID=44159]
4[Option ID=44160]

Sl. No.48
QBID:13046323

BOD (Biochemical Oxygen Demand) is used for the measurement of:
(1) Atmospheric Pollution

(2) Thermal Pollution
(3) Nuclear Pollution
(4) Sewage Pollution

&t it 3t (e TaTEA SHiede Jim) 399 9 fP9d A9 8 Wgad 3 oIkl § 2
(1) TTATGRUTT UgHT

1[Option ID=44161]
2[Option ID=44162]
3[Option ID=44163]
4[Option ID=44164]

Sl. No.49
QBID:13046324

Which of the following mnstrumental technique can be used for the analysis of CO (Carbon Monoxide).
(1) X-Ray Fluorescence

(2) Non-Dispersive Infrared Spectromentry

(3) Atomic Absorption Spectrophotometry

(4) Chemiluminescence

co & fazeyur gq Farfeiad o 9 o3t Iuu wiafd (@a-ie) W 81 Fdbdl & 2

(1) TGH-3 Ufagiiad
(2) TR - fARUISR] 3favad WagHcl

1[Option ID=44165]
2[Option ID=44166]
3[Option ID=44167]
4[Option ID=44168]

SI. No.50
QBID:13046325

1s a technique that separates a mixture of molecules by their differential migration through a stationary medium under the
influence of an electrical field.

(1) Epigenesis

(2) Electrophoresis
(3) Chromotography
(4) Blotting

far it faeqd & & uuTa & 3farid fbdt FRR (AR JeH & A1ead J 37 [AUGDRI IR0 gRT U3 & fdba figur &
JYeh ATl dDIP B :

1[Option ID=44169]
2[Option ID=44170]
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3[Option ID=44171]
4[Option ID=44172]

Sl. No.51
QBID:13046326

'The decrease in intensity of light passing through a solution is directly proportional to the path length'- the statement 1s given by-

(1) Lambert's Law
(2) Raoult's Law
(3) Beer's Law
(4) Dalton's Law

P11 f§aa  ToRd §U TS i il § St 7rf 3t dars » gHEud Eidt @ 98 duE R E € feaar g 0

(1) Tge &1 a9
(2) Iee I ATT
(3) §IIR B HTH
(4) Slecd &l HgH

1[Option ID=44173]
2[Option ID=44174]
3[Option ID=44175]
4[Option ID=44176]

Sl. No.52
QBID:13046327

The 'Central dogma' of molecular biology 1s referred to as-

(1) Transfer of information from DNA to RNA
(2) Transfer of information from DNA to protein directly

(3) Transfer of information from protein to DNA directly

(4) Transfer of information from DNA to protein via RNA

3nfoaa offa fagr @Afdieger araiarch o1 Jued STAT 59 w9 8 Gafid g -
(1) SITATY 3R TF U TP GI1 PT ™HIGRUT

(2) ST TY I BT UICH H Y& R0

(3) UICH ¥ 1 P 31 T T H U IRl

(4) ST UM 3R T U UIEH H RIHIGR0

1[Option ID=44177]
2[Option ID=44178]
3[Option ID=44179]
4[Option ID=44180]

Sl. No.53
QBID:13046328

Thunderstorms are typically formed in the following type of cloud.
(1) Currus

(2) Stratus

(3) Cumulus

(4) Cumulonimbus

dfsais T AP ATCa T e 2
(1) HOd
(2) €Y

(3) FHIH
(4) FHAIEY

1[Option ID=44181]
2[Option ID=44182]
3[Option ID=44183]
4[Option ID=44184]

Sl. No.54
QBID:13046329

What is tropopause height in the equatorial regions and in the high latitude regions:

(1) ~ 18 kms and ~ 10 kms
(2) ~ 10 kms and ~ 18 kms
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(3) ~12kmsand ~ 12 kms
(4) ~ 8 kms and ~ 18 kms

yTe &3 B 3R ey &7 H SIuTiS &1 3915 a1 gl § 2
(1) 18 fdt 3R - 10 farddi

(2) 10 foHet 3R - 18 fooed

(3) 12 foedt 3R 12 o

(4) g et 3R 18 foet

1[Option ID=44185]
2[Option ID=44186]
3[Option ID=44187]
4[Option ID=44188]

Sl. No.55
QBID:13046330

The thickness of Ozone layer 1s measured in which of the following units?
(1) Meters

(2) Centimeters

(3) Dobson Units

(4) Decibel Units

399 Rd B Aree e f d e gue 4 ardi ardi 8 2

(3) Sieqd HES

(4) Siydd aED

1[Option ID=44193]
2[Option ID=44194]
3[Option ID=44195]
4[Option ID=44196]

Sl. No.56
QBID:13046331

Suppose global fossil fuel combustion emits 7.4 Gt C/yr and cement production adds another 0.5 Gt C/yr while land-use emissions add 2.2
Gt C/yr. Assume an airborne fraction of 0.38 (1.e.. 0.38 Gt C out of 1 Gt C gets converted into CO,). What 1s rate of change in CO,

concentration i ppm/yr. (1 ppm CO, =2.12 Gt C).
(1) 1.2 ppm CO,/yr

(2) 1.8 ppm CO,/yr

(3) 2.4 ppm CO,5/yr

(4) 3 ppm CO,/yr

a1 fdb affe SHETRH S8 1884 7.4 Gt Clyr IcTToid &l & | Rif=< 3®@1E 0.5 Gt Cyr TeTdl § | T YESTaNT Icoi 2.2
Gt C/yr SGTAT § | HIFT 5 0.38 BT It 8 (O fih 0.38 Gt €. 1 Gt ¢ H Y co, H uRafdd gla1 )1 co, rsdr & uRad= @i

TR ppm/yr H FTEIA S | (1 ppm CO, = 2.12 Gt C)
(1) 1.2 ppm CO,/yr

(2) 1.8 ppm CO,/yr
(3) 2.4 ppm CO,/yr
(4) 3 ppm CO,/yr

1[Option ID=44197]
2[Option ID=44198]
3[Option ID=44199]
4[Option ID=44200]

Sl. No.57
QBID:13046332

Which element controls the heartbeat in humans?

(1) Sodmum
(2) Sulphur

(3) Potassium
(4) Iron
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A H I DI Y dd T H g0 Bl USH- &l FuPa drd g 2

1[Option ID=44201]
2[Option ID=44202]
3[Option ID=44203]
4[Option ID=44204]

Sl. No.58
QBID:13046333

The introduction of phage hybrid DNA into the host cell is called-

(1) Transformation
(2) Translation
(3) Transfection
(4) Inoculation

fquToit IHRd DNA BT Roitdl HIRIHT H Yo Heardl g |

(1) FUM=RU

(2) YA
(3) CI-HHdR[+

(4) BT T

1[Option ID=44205]
2[Option ID=44206]
3[Option ID=44207]
4[Option ID=44208]

Sl. No.59
QBID:13046334

The extracellular protein produced by mycorrhizal fungi that helps in stabilizing soil aggregate structure and decrease soil erosion is

called-

(1) Guanine
(2) Glomalin
(3) Nodulins
(4) Cytosine

HITRIT d1 I Sl dabad gRI g oild § 3R Jal Y=g G- 61 R $HRd § dUT T3T UG Dl $H DHd © Haiaidd 4

T Fedldo ?

1[Option ID=44209]
2[Option ID=44210]
3[Option ID=44211]
4[Option ID=44212]

Sl. No.60
QBID:13046335

The ability of a single genotype to generate more then one phenotype. depending on environmental conditions 1s called-

(1) Genotypic Plasticity
(2) Phenotypic Plasticity

(3) Polyphenism
(4) Genetic drift

OiaRug TR P FR AR [Hdl vsr S ue=y 31 U T SIS G40 g9 P &l &f RafaRed f S R ded & 2
(1) SY=ul Wieddl
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& ECIINCAGERE

1[Option ID=44213]
2[Option ID=44214]
3[Option ID=44215]
4[Option ID=44216]

Sl. No.61
QBID:13046336

Which of the following is an invasive species in India?
(1) Prosopis cineraria
(2) Lantana camara

(3) Tectona grandis

(4) Dalbergia sissoo

Fafafad 5 9 &1 9 YRd H P (S3d149) Uollid © 2

1[Option ID=44217]
2[Option ID=44218]
3[Option ID=44219]
4[Option ID=44220]

Sl. No.62
QBID:13046337

Shola grasslands are commonly found in-
(1) Western Himalayas

(2) Eastern Himalayas

(3) Aravalli ranges

(4) Western ghats

QT U JIHTId: Hel Ulg ofld © 2
(1) gigH: fearey

(2) gdl fgare™

(3) 3RTacll 4Gl

(4) gfgHi gre

1[Option ID=44221]
2[Option ID=44222]
3[Option ID=44223]
4[Option ID=44224]

Sl. No.63
QBID:13046338

In a forest extinction of tiger. results in increased population of dear. Overgrazing by dear decreases the density and diversity of plant
species. A number of native birds and msects also get exinet due to extinction of their food source. In this forest tiger in an example of-

(1) Flagship species
(2) Umbrella species
(3) Indicator species

(4) Keystone species

[t ST H eBTR (1Y) & fqag= © fexul &t S-9e §¢ 9idl o | iexol gR1 IR0 § urey Sifadl @t 9u=d1 3R fafauar &5
81 Sl & | HIoH & fae B1- 9 9gd 9 a1 Y&l iR dic Hi [dq@ 81 9d € | §9 YR & SiTdl § TSR (914) SEeRUI © |

(1) TRITIRY goiifd
(2) 3{EERAl Hollfd
(3) Zoldbex Uollld
(4) DIEH Yollfd

1[Option ID=44225]
2[Option ID=44226]
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3[Option ID=44227]
4[Option ID=44228]

Sl. No.64
QBID:13046339

Which of the following pollution cause largest number of deaths worldwide?

(1) Air Pollition

(2) Water Pollution
(3) Industrial Pollution
(4) Soil Pollution

Fafifad 7 4 oH 9 Uguul & SR Ay ¥ 969 e g aidi § 2
(1) dig UgHUI
(2) Yict HgHUI

(3) D TGy

(4) HalUgHU

1[Option ID=44229]
2[Option ID=44230]
3[Option ID=44231]
4[Option ID=44232]

Sl. No.65
QBID:13046340

You visit a garden and see a number of flowering plants. grasses. trees etc. You also see many birds. insects. reptiles etc. This whole
system 1s an example of:

(1) Species
(2) Population
(3) Community

(4) Biosphere reserve

379 U I BT YAV Hd & IR 3Wd ¢ 95d 9 B a1dl UIY, Ui, IS gafe 39 sga 41 ffsal, #ie. gy sanfe i 3wd & |
g8 Q)1 o (HafeiRad | 8 feger 3qmsrug

(1) gorfd

(2) SHEE]

(3) dHald

(4) Sarsd A9y

1[Option ID=44237]
2[Option ID=44238]
3[Option ID=44239]
4[Option ID=44240]

Sl. No.66
QBID:13046341

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: We. as global citizen, need to protect Antarctic glaciers and ice-caps.

Reason R: If Antarctic glaciers/ice-caps melt completely. the sea-level rise would be so high that most of the continents would be
submerged.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) A istrue but R 1s false
(4) A 1s false but R 1s ture

4 Gl HYF U U : TP MDY (Assertion A ) D &9 H fAIRGd 8 Ol GIRT 3UD HRUI (Reason R) I &Y :

HUBYT A : B AP ARG DI IRE A<Hied WRIRY R T BIE $I §9H Pt ATWHA § |

BRUIR : Ui f<iPbicd 80/ 9% B qul &Y ¥ fUuerdl 8 dl Ss&R a1 iU a¢ Se fo gt ggrgiy ofd 59 81 St
SWRIGd HYA & ATdlD H, H1d U T [dhedi H T el IR 99 HifoY
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(1) A IFRR A TAE SRR, A P! &I AR &

(2) A 3RRIF T €, AP R A P &I IR TET &
(3) AT R, AP R T B

(4 A3NIE. APIRIIT

1[Option ID=44241]
2[Option ID=44242]
3[Option ID=44243]
4[Option ID=44244]

Sl. No.67
QBID:13046342

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Photochemical smog 1s a primary Air Pollutant.

Reason R: It 1s formed in Traffic congested cities where the conditions are warm and intensity of solar radiation 1s more.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A 1s correct but R 1s not correct
(4) A 1snot correct but R 1s correct

-d gl By ST U §: TS DU (Assertion A) P FY H [ARd § d GERI 3UP PRUI (Reason R) P =4 1:

DY A : UDTRI I ¢34 U WUl I YU © |
R : U8 U Trarard g-cd dTdd el § §-9d1 8 Sigi 79 & 3R IR fafdor &1 digar 4 9fS &1 fRufa g |

SWRIad PYF P 3Tl H, A 3T T fabedi § I Gad Iugad IR D1 99 DIfT
(1) A 3RR G ol g AR R AP ol U 8

(2) AR R SH TGl &, AfF R, A T UET OREA TRl 8

(3) AR AfPIR GBI AT &

(4) ATSITRIg AfPTR TSI ©

1[Option ID=44245]
2[Option ID=44246]
3[Option ID=44247]
4[Option ID=44248]

Sl. No.68
QBID:13046343

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: OH radical plays a critical role in tropospheric chemistry of formation and destruction of Os.

Reason R: Because OH is rapidly transformed to HO, by reacting with CO or VOCs. HO,, in turn. reacts with NO and provides NO,.
NO, photolyses into O3 in the presence of sunlight.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A 1s correct but R 1s not correct
(4) A 1snot correct but R 1s correct

-Hd g1 Py fAU U § : U SNBHY (Assertion A D &Y H feifd 8 Tl GERI IUBT HRUT (Reason R) D =T T:
OH Ha® 0, & &1 auT I 814 @1 & Heay I9mafAa fohar & fod sifamgayuf € |

i OH HAP A F CO T VOC, I bt %@ HO, B FUraikd §idT § | HO,. NO & 1Y a1 #%% No, Sa1 § | NO, i
UHT $I SUFRUTA H 0, H UHTY Sufed grar s |

SWIK DY D 3HalP H. 1 [T T f[dheqi § I ol IR D1 994 DI |
(1) A RRIF AT AR R A DI U8 AT &

(2) A3RRIF T T, AP R A P &l URe e &

(3) ATqYE. AfpT RIS
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4) AGIEAfPIRTT R

1[Option ID=44249]
2[Option ID=44250]
3[Option ID=44251]
4[Option ID=44252]

Sl. No.69
QBID:13046344

Given below are two statements:

Statement I: In a river stream. there 1s continuous discharge of sewage at a particular point/location only. As a result of sewage mixing
with stream the dissolved oxygen is stream decreases.

Statement II: The maximum deficit of dissolved oxygen does not occur at the mixing point of stream and sewage but at a certain distance
from the mixing point i the down stream direction.

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true

A AICACLRI S

HYF 1 : U -] D1 URT T daid U ARy fag I IR Hefold o1 fFAR-aR Ydg- gidl 8 | Hasid & YRT & 91y Ay & gRony
ey YRT T Yferd sifeiio &1 dHl gidl @ |

YA iﬁ@%ﬁﬂ?ﬁ?ﬁdﬂﬂﬂﬂﬂ%dﬂ@h%%ﬁ%ﬁﬁwqﬁmﬁ%Iﬁg:ﬂﬁaﬁﬁ?ﬂﬁﬁwwﬁw
R REIATE |

IWRIGd HY- & TalD H. Hid ST U f[ahedl § I ol 3R B g DIl -

(1) HYFI AR A Td B

(2) HYTI AR AT B

(3) HYT1 I 8. Afp Y 11 3 &

(4) PYTI T 8. Wb FYT I TI ©

1[Option ID=44253]
2[Option ID=44254]
3[Option ID=44255]
4[Option ID=44256]

Sl. No.70
QBID:13046345

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Denitrification 1s an undesirable process from agricultural point of view.
Reason R: Here the nitrate present in soil 1s converted to nitrogen gas and it 1s lost to the atmosphere.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) A istrue but R 1s false
(4) A 1s false but R 1s true

:ﬂ%a$ﬂqﬁ'ﬂ_m% : Waff\w (Assertion A) & =Y ﬁﬁ@ﬁ%?ﬁwmwmeamn R) & =q H:
AP YF A : SN Fath e § f§-Hiorfiwzo sare-ita ufear g
HRUIR : Ga1 § fGemH A1geior. Ageioq 19 & IUiaid g Skt 8 3R U8 araraRul & GH 81 oiidi ¢ |

IWRIEI HYA D Al H. Aid ST U f[dbedi H F Yol IR DI 99 Doy
(1) ARRIAIIIE IRR AT Gl AN
(2) A3RRIF TUE. AP R A DI ST SIS Te &

3) AT L. AfPIR 3T
(4)
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AT R AfPIRIAT B

1[Option ID=44257]
2[Option ID=44258]
3[Option ID=44259]
4[Option ID=44260]

Sl. No.71
QBID:13046346

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Polar jet stream flows from west to east.

Reason R: Polar jet stream 1s a geostrophic wind which flows due to the balance between coriolis force & pressure gradient force.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both A and R are true and R 1s the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) A is true but R 1s false
(4) A is false but R 1s true

+1d gl Y= U Ty % . TP HHDHYUA (Assertion A) 7 %Qﬁmﬁé?ﬁ R 3D BRI (Reason R) & Y h.

A : dI B¢ YRT (K1H) Ui 9 IRe I DI SR YaIiRd gial g |
R : §dg i YRT U Y-fqadi arg g ol [ Bife 3oy §a 3R <1d Yaoidiad & He Ha- & SR Jalied sidl 6|

IWRIGd YA & Al . Fid AU 7T f[ahedi § I ol IR &1 9G] Hifolg
(1) A3RRGH GG IR R AP ol ARAT &
(2) A 3R R IFI T &9 ift- R, A B TSI IR T8l &
(3) AT E. AP R ITT &
(4) AT 6. APIR IS

1[Option ID=44261]
2[Option ID=44262]
3[Option ID=44263]
4[Option ID=44264]

Sl. No.72
QBID:13046347

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Air pollution and climate change are not related.
Reason R: Climate change such as global warming 1s mainly caused by increasing concentration of green house gases such as CO,. CO,

gas 1s not considered as air pollutant.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A s correct but R 1s not correct
(4) A 1s not correct but R 1s correct

:ﬁaawmﬂt{% . T AHHYA (AsseﬂionA)an?qﬁﬁl@H%deH&J $ U] (Reason R) & & H:
AHYHYT A - T WEHUT 3R Targ IRad U gaR 3 Tafea 781 € |

R : Sierarg URac- o dfye ard- Jeraal gRaus 1191 S €O, @ §¢d U U -5Ul & HRUIBIdI & | CO, T 1 a1y Uguul T
JOAT A1 G |

IWRIE BYF D AdiD H, Aid AU U f[dhedi # I ol IR B1 994 Difold

(1) ARRIFIIIE MR AT Tl AR |

(2) ASIRREHI GO E. AfPAIR. A DI Gl AT AR © |

(3) AT G, APIR 3T ©
(4) AFIE. APIRITS

1[Option ID=44265]
2[Option ID=44266]
3[Option ID=44267]
4[Option ID=44268]
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Sl. No.73
QBID:13046348

Arrange the phases of microbial growth curve from initiation to termination.

A. Stationary phase
B. Exponential phase
C. Death phase

D. Lag phase

Choose the correct answer from the options given below:

(1) A.D.B.C
(2) D.A.B.C
(3) A.B.D.C
(4) D.B.AC

Y& Sitary] (H1gshifaad) afs ao &1 a3l Bl SRY Y 3fd &I 3R & 0 T oyafyd Hifoid |

A. RIS LIRT sfqwyT
B. TRYUTAI®! TaUHRITd aRIT

L. Ha&J[

D.gﬁim
+id ST T f[ddedl § 9 gl IR BT 94 Bifolt -
(1) A.D.B.C
2) DA B.C

3) A.B.D.C
() D.B.AC

1[Option ID=44269]
2[Option ID=44270]
3[Option ID=44271]
4[Option ID=44272]

Sl. No.74
QBID:13046349

Write a waste management hierarchy from source to disposal from the given solid waste management practices.

A. Recycle
B. Treat

C. Avoud

D. Dispose
E. Minimize

Choose the correct answer from the options given below:
(1) C.E.A.B.D
(2) EEA.B.C.D
3) C.D.E.A.B
(4) B.E.D.CA

fau U €1 Uiy weyH fohal Sl & wWid I IR0 d@ Uy Y§U= 9gHhd Bl ddigu |
A. ThU]

B. Jadalid &l
C. 91
D. [ 751 Bl

E. P H Bl
(1) C.E.A.B.D

(2) EEA.B.C.D
) CDEAB
() B.E.D.CA

1[Option ID=44273]
2[Option ID=44274]
3[Option ID=44275]
4[Option ID=44276]
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Sl. No.75
QBID:13046350

Arrange the following soil horizons from top layer of soil to the increasing depth below.

A. 'O horizons
B. 'B' horizons
C. 'C' horizons
D. 'A' horizons
E. 'R’ horizons

Choose the correct answer from the options given below:

(1) A.C.B.D.E
(2) A.D.B.C.E
(3) A:B.C.D B
() B.C.D.A.E

Faifdd gar 9%l &1 a1 & SHURI Hag H | 1 DI R gadl g5 Te0s DI aib, HH H gaiiyd SIfo |

A.'O' IR
B. 'B' ¥R
C.'C' KR
D.'A' IR
E. R &R
(1) A.C.B.D.E
(2) A.D.B.C.E
3) A.B.C.D.E

(4) B,C,D,A,E

1[Option ID=44281]
2[Option ID=44282]
3[Option ID=44283]
4[Option ID=44284]

Sl. No.76
QBID:13046351

Arrange the following layers of atmosphere in the sequence of increasing altitude from the earth's surface.

A. Planetary Boundary layer
B. Free troposphere

C. Tropopaus

D. Mesosphere

E. Stratosphere

Choose the correct answer from the options given below:

(1) B,C.D.E, A
(2) A.B.C.D.E
3) A.B.C.E.D
(4) B.C.E.D. A

gl &1 Hdg I YATdaR0l B URdl Bl Jidl P Sed gU HH H sIfRyd PHiforu |
A. YAUSTY HHT Hds

B. Wdd &HATS
C. &Y AUSH

D. HOHUSd

E. 4HeIYHYS

(1) B.C.D.E.A
(2) A.B.C.D.E
3) A.B.C.E.D
(4) B.C.E.D. A

1[Option ID=44285]
2[Option ID=44286]
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3[Option ID=44287]
4[Option ID=44288]

Sl. No.77
QBID:13046352

Arrange the following layers of the earth starting from the centre of the earth till surface of the earth.

A. Lithosphere
B. Inner Core
C. Mantle

D. Outer Core
E. Aesthenosphere

Choose the correct answer from the options given below:

(1) A,B,C,D,E
(2 B.D.C.E. A
3) B.E.C.D. A
(4) B.E.D.C.A

fafaiRad gudt ot IRd 31 gedl & B J Jedt Pl Jdg dP aiedd Pifold |

A. R[d HUSH
B. AP BR
C. H=d

D. §18% BR
E. URAIR

(1) A.B.C.D.E
(2) B.D.C.E. A
3) B.E.C.D. A
(4) B.E.D.C.A

1[Option ID=44289]
2[Option ID=44290]
3[Option ID=44291]
4[Option ID=44292]

Sl. No.78
QBID:13046353

Arrange the following in progressing order of carcinogenesis.

A. Promotion

B. Metastasis

C. Progression

D. Imitiation

E. Transformation

Choose the correct answer from the options given below:
(1) A,D,C.E.B
(2y E,D,A,C,B
3) D.E.C.A.B
(49) D.A.E.C.B

DIRGHIDBRU B WA & HHRId HH I gaiyd Hiford |

A. gFfd
B. f[a9Hg
C. WiTid

D. {RTA
E. TRl

41 fSu U [ el § ¥ Hgl IR &1 994 Bifol -
(1) AAD.C.E.B
2) E,.D.A.C.B
3) D.E.C.A.B
(4) D.A.E.C.B
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1[Option ID=44293]
2[Option ID=44294]
3[Option ID=44295]
4[Option ID=44296]

Sl. No.79
QBID:13046354

Being scientist, you are to solve an environments problem. Arrange the steps of scientific method in the correct sequence to address the
1ISSUE.

A. Develop a hypothesis to explain the problem

B. Share new knowledge by publishing article or presenting in meetings
C. Analyse and interpret the data to reach a conclusion.

D. Recognition of an unexplained environmental problem

E. Design and perform experiments to explain the problem

Choose the correct answer from the options given below:
vy A, D,E,C,B
2) D.B.E.C.A
3) A.D.E.C.B
(4) D.A.E.C.B

%m&whﬁﬁ%mmmwﬁwmwmwﬁ% | fau U e =Rl &1 I v H H @Y IS gagH &

A. G &1 WIPHI0 B & [0 IRB I §4T |

B. 41 ISP §lcAT, d@- YRR DD T GHI3H H Uxd P

C. ATH S| P [GTAYU] 3R TRHAT TP (5 HHTaA]

D. 3Y UGIG01 G18d T &1 Uggr-]

E. T &1 WY H-d & o1 WaHT B F93GT 14T 3R TR HAT

(1) A.D.E.C.B
(2) D.B.E.C.A
3) A.LD.E.C.B
(4) DA.E.C.B

1[Option ID=44297]
2[Option ID=44298]
3[Option ID=44299]
4[Option ID=44300]

Sl. No.80
QBID:13046355

Given below are two statements:
Statement I: Ocean 1s not considered to be an important carbon reservoir in the Earth system.

Statement II: CO, residence time 1n ocean 1s higher than atmosphere.

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true

A HYRU TR -
HYF 1 : HERITR DI gadi dd T T Hg@qul H1a- R $s (RSaiaR) AT Al 6 |

HYA 11 : SRR H aigHUSd &1 qol H Sla-1sTs HaH5S Hard 3afd 3= 3 |

(1) YT 3R I SHI T 8

(2) HYFI3HR II gHI FTd ©

(3) HYT 1T &, AT PYT 11 3T ©
(4) FYTIITI R, AP PYT I T ©

1[Option ID=44301]
2[Option ID=44302]
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3[Option ID=44303]
4[Option ID=44304]

Sl. No.81
QBID:13046356

Given below are two statements:

Statement I: In the process of respiration. organic compounds undergo degradation (Catabolism) in the presence of molecular oxygen or in
absence of oxygen. The process releases energy.

Statement II: Similar amount of energy 1s produced in both aerobic and anaerobic respiration.

In the light of the above statements. choose the correct answer from the option given below.

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I is false but Statement II 1s true

DY 1 4T Uicha1 H 310 JHTaRiTSH i Ul ryar sifaiio & Ui § Hraf-d I I BT 399G BIdl 8| b Hishdl
T 39 R:gagidi 8 |

HYF 11 : ARG 3R ARy gHl ot fRUfd & Sl ot Ga= I ST gidl © |

(1) HYTI AR SH I &

(2) HYTI AR HI A B

(3) HYT19d 5. dfte BYT 11 I ©

4) PYTITA . AT HYT I I ©

1[Option ID=44305]
2[Option ID=44306]
3[Option ID=44307]
4[Option ID=44308]

Sl. No.82
QBID:13046357

Given below are two statements:

Statement I: Ecological natality (fertility rate) refers to the number of oftsprings produced under prevailing set of environmental
conditions.

Statement II: Absolute natality (fecundity rate) 1s the number of offsprings produced under i1deal environmental conditions.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true

TR FYTRUME
HY 1 : IRFRYTT B 1R o1 31 § Taiaruity gRmsii &1 yaferd a1 & S=iTd Ual §5 S &f S |

YT 11 : FRUE TR 1S ygiaRofig g3 & 3fid Ual g5 Sari &I ST |
(1) HYF1 AR 113 I ¢

(2) HYF1 AR 3T &

(3) PYTIII G, AP DY I T ©

(4) YT 3T ¢, AP FYT I 3T &

1[Option ID=44309]
2[Option ID=44310]
3[Option ID=44311]
4[Option ID=44312]

Sl. No.83
QBID:13046358

collegedunia:s

India’s largest Student Review Platform

sﬁ

T



Given below are two statements:

Statement I: In a sewage treatment plant. secondary treatment primarily aims at removing phosphates and nitrates from the sewage water.

Statement II: The number and diversity of microorganisms in sewage help in easy removal of phosphate and nitrate during secondary
treatment.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true

TR FyRRU MR
DY 1 : Ad old WY 997 1 gD TR &1 HHE 3539 B%he 3R A15cc Bl dlieadd oid 9 e HRATS |
HYA 11 : GGGl B FAT SR fafdedr gaRt fgdige AR & 99T S 9 BIBe 3R A15¢c DI e S § Hag ddl 6 |

IIRIEI DY D Al H. Aid 3T U f[dhedi # I Yol IR DI 90 Dol :
(1) HYTI AR GHI TI ©

(2) HYFI AR I A 3T 5

(3) HYT1 I 5. A PYT 11 T ©

(4) PYT1 3T 8. AP PUT I JA ©

1[Option ID=44313]
2[Option ID=44314]
3[Option ID=44315]
4[Option ID=44316]

Sl. No.84
QBID:13046359

Given below are two statements:

Statement I: In terrestrial ecosystem (grasslands, croplands, forests) the pyramid of biomass 1s inverted.
Statement II: In aquatic ecosystem (Pounds, lakes. rivers etc.) the pyramid of biomass 1s upright.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true

=ﬂ%a’r$u?fﬁtqm%
HY 1 : Ry uRiRfd @1 7 ey, seayiial, o) d Sausid (@aiEs) o RS gebiid gidi s |

®YA 11 : g IR ot 9 (@aral, Sitdl, Ffedi sanfe) ¥ siadsid @@mm) &1 fiRifis @i gias |
(1) HYT1 AR 11 S 9 &

(2) HYFI AR 11 SH 3T ©

(3) YT 1TA ©. Al YT 11 3T &

(4) HYF FTT 8. AfbT YT I TT §

1[Option ID=44317]
2[Option ID=44318]
3[Option ID=44319]
4[Option ID=44320]

Sl. No.85
QBID:13046360
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Given below are two statements:

Statement I: The phenomenon of having increased species diversity and densities in ecotonal region 1s called the edge effect.

Statement II: The transition zone between two different ecosystem 1s called ecotone.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true

®YA 1 : GehiHH1g &3 § gl faauet 3R 4@ § gfg B gRue1 &1 DR YHE (T Shac) Hed o |
HYF 11 : 3 fog RIS 93 & o9 THav &7 &1 AH BT (SHICH) Ped © |

IWRIGd DY P ATalP |, Hid (4T U fddbedl T I gl IR 1 99 iU -
(1) YT IR SHI I B

(2) HYFI AR I A 3T B

(3) HYT1 A 8. AP HYTII 3TA ©

(4) HYF I A 8. Al HYF I I ©

1[Option ID=44325]
2[Option ID=44326]
3[Option ID=44327]
4[Option ID=44328]

Sl. No.86
QBID:13046361

Given below are two statements:

Statement I: Net primary production (NPP) 1s the remaming chemical energy available after respiration and other metabolic activities and
used in body building of heterotrophic organisms.

Statement II: The chemical energy from NPP is used in the body building of autotrophic organisms.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true

:ﬂ’%lafmu:rﬁqﬂ‘l%

FUA 1 : S NUHT IARSHAHT R 3= Iug=d nfafafidl & e Iuas Y I9af-e Iot g IR fawra sial & IRR
fmtor & Iugi fear Sran € |

DU 11 : Y& WUHD IATH 1 I Ui 9101 Joil Tyt Sital & YRR FHH10 § uged il © |

SR HYF & Al 4. I 13U U f[dhedi § T el IR HI 9g- HIfelU :
(1) HYTI AR GH T

(2) HYFI AR 3T B

(3) HYT1II 5. AP DY I T ©

(4) FYT1 I E, AP PYT I T ©

1[Option ID=44329]
2[Option ID=44330]
3[Option ID=44331]
4[Option ID=44332]

Sl. No.87
QBID:13046362
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Herbivores occupy the

A. First trophic level (T)
B. Second trophic level (T5)
C. Consumer of first order (Cy)

D. Consumer of second order (C,)
E. Third trophic level (T;)

Choose the correct answer from the options given below:

(1) Aand D only
(2) B and C only
(3) E only
(4) Aonly

A. UYH UINUIS ¥R (T,)

B. fgdid 9INUS ¥R (T,)

C. YYH BH BT IYHIEI (C,)
D. Tgdid ®H BT FUHIGIT (C,)
E. JdId UINUS] &R (T5)

=1 U ¢ fahedl & O ol IR BT 994 DIl :

(1) Had A 3RD
(2) FFAB 3R C
(3) HIJE
(4) Had A

1[Option ID=44333]
2[Option ID=44334]
3[Option ID=44335]
4[Option ID=44336]

Sl. No.88
QBID:13046363

The structural component of ecosystem consist of

A. Biological community
B. Flow of energy

C. Nutrient cycling

D. Range of climatic factor
E. Biological regulation

Choose the correct answer from the options given below:

(1) B. C and E only
(2) AandD only
(3) B and C only
(4) E only

gRdd & SETED Ued 2o R gid g 2

A. Jifd® g™
B. 39l &1 ¥dIg
C. UINd Il

D. SAdgfd® P TP Bl IR
E. Sifde HaH

= 13U 7T o el § 9 Iol IR &1 994 Difold -
(1) $adB. C ARE
(2) Had A 3fRD
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3) FAIB IR C
(4) HAddE

1[Option ID=44337]
2[Option ID=44338]
3[Option ID=44339]
4[Option ID=44340]

Sl. No.89
QBID:13046364

Which of the following are products of complete mineralisation of organic compounds.

A. H,S
B. CO,
C. CH,
D. H,0
E.NH;

Choose the correct answer tfrom the options given below:
(1) C and E only
(2) B and D only
(3) Aand C only
(4) C and D only

g0 9 B 9 Dla-S g gul fHRugeR- & 3dG 6 |
e fSU 7Y [ddeul # 9 Ia I9gad IR &1 90 DI ;

A.H,S
B. CO,
C.CH,
D. H,0
E. NH;

(1) Had C ARE
(2) Had B AR D
(3) FAAAARC
(4) HFAC IR D

1[Option ID=44341]
2[Option ID=44342]
3[Option ID=44343]
4[Option ID=44344]

Sl. No.90
QBID:13046365

Choose the correct statement:

A. TUCN 1s now known as WWF

B. Chilka lake was recognised as Ramsar site i India in the year 1981
C. Corbett National Park 1s located at Uttar Pradesh.

D. Gorilla 1s the only ape found in India

E. Asian Elephant 1s an endangered species

Choose the correct answer from the options given below:
(1) A& Conly

(2) B & E only

(3) D only

(4) A& E only
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el HY DI g :

A. 313 91 U 3@ 39 S TP & U H §HI Sl 3 |

B. @1 2itd &1 YR | 1981 & 98 H IHIR ™A & 49 § A-4d] =l |
C. PTdc AYd Ui STRUSY § AU g |

D. TReaT YRd & 911 9F aTdll UhHE S § |

E. TR greft Idead vt d InfHa g |

(1) HFAAARC
(2) HGAB IRE

1[Option ID=44345]
2[Option ID=44346]
3[Option ID=44347]
4[Option ID=44348]

Sl. No.91
QBID:13046366

Choose the correct statement:

A. Lake 1s an example of lotic water body

B. 2.1% of the volume of fresh water 1s available for human use in the hydrosphere

C. Indus water treaty lies between India & Pakistan.

D. Dams are responsible for world water crisis

E. The dispute of sharing the Ravi-Beas water and Sutluj-Yamuna link 1ssue lies between Punjab & Haryana

Choose the correct answer from the options given below:
(1) E only

(2) C only

(3) A& B only

(4) C & E only

ol Y DI JgdI-U |

A. 3ia: aid oid A1 &1 e ISe0§ |

B. dTol U1 &1 2.1% AT SaHSd H HHd I9dN & U Iua« 8idT & |

C. 389 ua 9 s iR ufbaA S 9§ |

D. S& 4%y oic Gope & folU SR T |

E. 1Al o0 Sidt 3R Feiersl g1 i & FigiaR| Pl 3Ts] Uuid SRR €9 ¢ |

1 iU U fadh el § O Tgl IR &1 99 DI :

1[Option ID=44349]
2[Option ID=44350]
3[Option ID=44351]
4[Option ID=44352]

Sl. No.92
QBID:13046367

What are pneumatophores?

A. Respiratory roots of plants growing in marshy places and salt lakes.

B. Hanging roots surrounded by spongy tissue.

C. Roots that grow vertically upward like conical spikes with numerous pores.
D. Cluster of roots arising at the base of the stem.

E. Roots produced from the main stem and often from the branches.

Choose the correct answer from the options given below:

(1) D and E only

T
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(2) B and E only
(3) D only
(4) Aand C only

Y- 18 2

A. UGl & 49 Jd $=5 RIFI a4l 9quitd el 3 999d &
B. fAdidl ga et 3@ I IR @ &.

c. 4! 7@ off f IR W BT AR 40l § Ud 58H 3 Il & 1Y P Wigeh ol S=-1 8Iell ©.

D. Yl &1 7% W P YR W I old &
E. 9IS (&) T &Y ¥ 397 gl & AR W rarsfi § Saa gidi @ |
(1) Had D AYTE
(2) $gd B dYTE
(3) Had D
(4) Had ATYUIC

1[Option ID=44353]
2[Option ID=44354]
3[Option ID=44355]
4[Option ID=44356]

Sl. No.93
QBID:13046368

Consider the following statements about the hydrothermal vents.

A. The sea water has been heated by the radioactive rocks below.

B. Ample light i available for photosynthesis.

C. Support rich ecosystem in contrast to the surrounding desert at the deep ocean tloor.

D. Bacteria function as producers in these ecosystems.
E. Tube worms. shrimp. crabs. clams etc. are found in hydrothermal vents.

Choose the correct answer from the options given below:

(1) Aand C
(2) A.BandC

(3) A.C.D.E
(4) Aand B

fFrafafaa 3 3 Iurdia Fer 3 gaftd Y= &1 g31a 3 |

A. GUE1 O e STl 9ichg U gRITH Il © |
B. UHIRI SN & oI 94 AT H UPII 8idl g |
C. 99 URGA] B HERI &d ©. AU & T8 Yol 5d & MK & 393G

D. 3 URdAl § SiidY] IdTae &1 H1d HRd o |
E. 2gd $iH i, s, it gaiie 3wl oeiig He H g eid ¢ |

=1 fGU 70 faseul & O Il 3R &1 9 DIl
(1) BAA A, C
(2) BAA A, B. C

(3) AT A.C.D.E
(4) $dd A. B

1[Option ID=44357]
2[Option ID=44358]
3[Option ID=44359]
4[Option ID=44360]

Sl. No.94
QBID:13046369
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Match List I with List II

LISTI
Stage of Sewage
freatment process

LISTII
Targeted Pollutant

Primary treatment i .Suspended and floating particles

. Secondary

ORI T Phosphorus and Nitrogen

. | Tertiary treatment . |Pathogenic bacteria

Chlorination

Suspended organic matter
treatment o =

Choose the correct answer from the option given below:
(1) A-L B-II. C-IV. D-III
(2) A-IL B-lL. C-III. D-IV
(3) A-L B-IV. C-II. D-III
(4) A-IL B-I. C-IV. D-

Tl & 1P 1Y I 11 DT [HdH Difon

|Frcifed 3fR avd gU
[@01

BRHRY AR
SIEEEE

: ‘E’iuwm Siiarg
ERIECEACIRES
wifded ey

= U 70 faedl & O el IR &1 9g- Difolu
(1) A-L B-II. C-IV. D-
(2) A-IL B-I. C-IIL D-IV
(3) A-L. B-IV. C-II. D-III
(4) A-IL B-1. C-IV, D-III

1[Option ID=44361]
2[Option ID=44362]
3[Option ID=44363]
4[Option ID=44364]

Sl. N0.95
QBID:13046370

Match List I with List II

LISTI ' LISTII
Conference year

' |

X Stockholm [ 1997
conference
I |

B. iEa.nh summit II. |1997
Convention on =

- Biological Diversity l i

| D. |Kyoto Protocol V. [1993

Choose the correct answer from the options given below:
(1) A-IL B-IIIL C-I. D-IV
(2) A-IV. B-II. C-III. D-I
(3) A-IIL B-I. C-IV, D-II
(4) A-IV.B-IIL C-I. D-
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T 1 & 1Y gl 11 BT Difon

I II
- =
A |®i®e™ gHad I 1992
B. |gudl T Il img?
C. Siafafaud R I |1972
Ialf\w
D. |lel HIeidid IV. 1993

-1 fGT T fameal | 1 el IR &1 999 PIoT -

(1) A-IL. B-IIL. C-1. D-IV

(2) A-IV. B-II. C-III. D-I
(3) A-IIL B-I. C-IV, D-II
(4) A-IV. B-II. C-I. D-III

1[Option ID=44369]
2[Option ID=44370]
3[Option ID=44371]
4[Option ID=44372]

Sl. No.96
QBID:13046371

Match List I with List II

LIST I LIST 11
Phenomenon Associated factor
A. [Global Warming I [co
B. IAi:r Pollution [I. |Green House Gases
[C. [Waser Quality I 'm |Biae
| D. [Soil | v [BoD

Choose the correct answer from the options given below:

(1) A-IL. B-I. C-III. D-IV
(2) A-IL B-IIIL C-I. D-IV
(3) A-II. B-1. C-IV. D-III
(4) A-IL B-IIL. C-II. D-IV

gl 1% 91y gl 11 T (T Hifoie
Sy "L
A |3 am L |co
B. |argvguu I [eRATETN
C. laaqmam III.
B !HET | v

=1 74U ¢ fadeul & 9 9ol IR &1 994 DU

(1) A-IL B-I, C-III. D-IV
(2) A-II. B-IIL. C-I. D-IV
(3) A-IL. B-I. C-IV. D-III
(4) A-L B-IIIL C-II. D-IV

1[Option ID=44373]
2[Option ID=44374]
3[Option ID=44375]
4[Option ID=44376]

Sl. No.97
QBID:13046372
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Match List I with List II

LISTI LISTII
Phenomenon _ Associated factors

Fossil fuel burning | 1. |Radioactive waste

Nuclear Power II. |Release of CO,

. Western Ghats [1L. .Aquatic Adaptation

OO W)@

. Stream lined bodyv | IV. |Biodiversity hot spot of India

Choose the correct answer from the options given below:

(1) A-L B-II. C-III. D-IV
(2) A-IL B-I. C-IV. D-III
(3) A-IL B-IIL. C-I. D-IV
(4) A-IL B-I. C-III. D-IV

gl 1 & 91y gl 11 T (T Hifoe

- fGu T fasedl & 9 981 SR &1 999 Pifort -
(1) A-lL B-II. C-III. D-IV

(2) A-IIL B-I. C-IV., D-III
(3) A-Il. B-III. C-I. D-IV
() A-IlL. B-I. C-III. D-IV

1[Option ID=44377]
2[Option ID=44378]
3[Option ID=44379]
4[Option ID=44380]

Sl. No.98
QBID:13046373

Match List I with List II

LISTI —
Activities/Factors Associated Pollutants
A .Constructinn - I. [CO & NO,
B. |Vehicles II
C. |Industry e
D. |Paddypondiand | IV

Choose the correct answer from the options given below:

(1) A-L B-II. C-III. D-IV
(2) A-IV. B-III. C-II. D-IV
(3) A-IIL B-I. C-II. D-IV
(4) A-IIL B-I. C-IV. D-
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T 1 & 1Y gl 11 BT T Difoe

GSik T 1

A [Fmfu®d |1 [CO;&NO;

B. |a18d II. |50,

C. |3 Al & Zn

D [y afE |1V |CH,

4t feu U fasedl § T g1 IR &1 904 Bifoig
(1) A-L B-IL C-IIL. D-IV
(2) A-IV. B-III. C-II. D-IV

(3) A-
(4) A-

1[Option ID=44381]
2[Option ID=44382]
3[Option ID=44383]
4[Option ID=44384]

[. B-1. C-II. D-IV
[. B-I. C-IV. D-II

Sl. No.99
QBID:13046374

Match List I with List II

LISTI LISTII
Concepts Definitions
A Common pool I Shared responsibility for the sustainable care of
" |resources " |our planet
Economic development that meets the needs of
B. |Sustamability | II. |present generation without compromising the
needs of future generation
Those parts of environment available to evervone
C. |Stewardship [1.|but for which no single individual has
responsibility
. The ability to meet current human economic and
Sustainable 2 - ; o 73
D. * IV |social needs without compromising the ability of
development

the environment to support future generations.

Choose the correct answer from the options given below:

(1) A-L B-IIL C-IL. D-IV

(2) A-
(3) A-I

[. B-II. C-IV. D-I
1. B-IV, C-1. D-II

(4) A-IL B-I. C-IIL. D-IV

T 1 & 1Y gl 11 BT T Sifou

|u® aafdd fas 30 fae @13 et 8l 8

a{cﬁﬂ‘a’ami T TG & feTT =

ARG

e e S gd9H Wel & S&d! @l Egl

|®ar & o1 fedi Tosid & sHare difed

ferg
TGIaR0l & al YT ol Gad! U & G fdal

-aﬁnmnmﬁm,&rrﬁfﬁamwﬁmm
DI R B DI &HdT fo1 ol gHzid &

| 9TiaRur B &1 B 3fHarc Uiied! & YgRT

[EEAN

=1d U U faeul & O 9ol IR &1 99 DIl -
(1) A-L B-IIL. C-II. D-IV

(2) A-

[. B-II. C-IV. D-I
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(3) A-IIIL B-IV. C-I. D-II
(4) A-IL B-I. C-III. D-IV

1[Option ID=44385]
2[Option ID=44386]
3[Option ID=44387]
4[Option ID=44388]

Sl. No.100
QBID:13046375

Match List I with List II

LIST I : LIST II
A. |Atmosphere I. |Outer crust of the Earth
B. |Hvdrosphere 1 Comprises of both biotic & abiotic
component
C. |Biosphere | Sheet of gases that surround the
| plﬂﬂ&‘[
D. ]LithGEPthE IV. |Comprises of water

Choose the correct answer from the options given below:
(1) A-IL B-IIIL C-IV. D-I
(2) A-IIL B-IV. C-II. D-I
(3) A-IV. B-I. C-III. D-II
(4) A-IL. B-IV. C-I. D-III

gl 1 & 91y gl 11 BT [ Sifon

_ T=1 11
A. |ardraRu I |9l & SRR YU
|5 MR Sfolfa® ged &

B. U II e
giCIHYS T TaTETE

C. |SigauEa N[ P RdJI T8l dI U 8

D. |[®EAvEd |1V |9 &1 99169YH

1 feu T faheul § T Igl 3R &1 994 I ;
(1) A-IIL. B-III. C-IV. D-I
(2) A-IIL. B-IV. C-II. D-I
(3) A-IV. B-I. C-III. D-II
(4) A-II. B-IV. C-I. D-III

1[Option ID=44389]
2[Option ID=44390]
3[Option ID=44391]
4[Option ID=44392]
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